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QID : 1 - Select the related word from the given alternatives.

River : Stream :: Ocean : ?
fow 7T fashed! # & Feftrd arse 1 gfaw

ALY : URT :: AFTAWR : ?
Options:
1) Current

varg
2) Pond
RIGICE
3) Dam
E113)

4) Sea
|qHg

el
Correct Answer: Current

EEL

Candidate Answer: Current

dre

QID : 2 - Select the related letters from the given alternatives.
WUS : DFH :: MKI : ?

T arv et 7 & Faftra 3Rt # g
WUS : DFH :: MKI : ?

Options:

1) UH

2) GEC

3) 0QsS

4) NPR
Correct Answer: NPR
Candidate Answer: NPR

QID : 3 - Select the related number from the given alternatives.
-3/7:7/3::9/2:?

v a1e faewmedt # & wefa @ & gfaw)
-3/7:7/3::9/2:?

Options:

1) 2/9

2)-9/2

3)7/2

4) -2/9
Correct Answer: -2/9
Candidate Answer: -2/9

QID : 4 - Select the odd word from the given alternatives.

v a1e famwedt # & fawe aeg 1 gfaw)

http://thepracticetest.in/cs_cglet1 _D@Wdihh@ _EtﬂeMﬁH’ [lg) ;Pa_pﬂmmﬁmmww Mﬁd@ goste 2ulnandricsh A1712c00c3885¢ 1/22



91712017 Download More PapestftSetectiongommisioiovtJobsAlert.In

Options:

1) Mother-in-Law
ara

2) Nephew

E Rl

3) Grandson

qrar

4) Great grandfather
qcrer

Correct Answer: Mother-in-Law
ara

Candidate Answer: Mother-in-Law
ar|

QID : 5 - Select the odd letters from the given alternatives.

R a1 fRewedl & & fwe 3Rt @ giw)
Options:
1) GHI

2) XYZ
3) WUT

4) CDE
Correct Answer: VUT
Candidate Answer: VUT

QID : 6 - Select the odd number from the given alternatives.

few a1e faeredt 3 & fawer e & giaw)

Options:

1) 43

2)22

3)13

4)41

Correct Answer: 22

Candidate Answer: 22

QID : 7 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.

Shy, Food, Plate, Recess, ?

T TR T ara B, forad uan rea ofed 1 faw 1w fashed 7 & g8 @él e 9T S Jtegma B qu |
Shy, Food, Plate, Recess, ?

Options:

1) Monsoon

2) Soon

3) Eat

4) Lunch
Correct Answer: Monsoon
Candidate Answer: Lunch

QID : 8 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

XIIIII, IXIIIL, IIXIII, ITIXIL, ITTIXI, ?

Teh 3TeTeha 1T 91T ¥, FSrae Ueh ue vl ¥ ferw 910 faehedt 3 & a8 e fashed AT S JieToha AT @1 B |
XIIIII, IXIIII, IIXIIL, IXIXIL,ITIIXI, ?

Options:

1) IIIIXII

2) IIIIIXI

3) IIIIIX

4) XIIIIX
Correct Answer: IIIIIX
Candidate Answer: IIIIIX
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QID : 9 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.

49, 64, ?,100, 121

T TR T o B, forae ue e oo §1 v arv feedt # @ a5 He Fieew AT S egsha O |

49, 64,?,100, 121
Options:
1) 74

2) 80
3)75

4) 81
Correct Answer: 81
Candidate Answer: 81

QID : 10 - Nasir's birthday is on Thursday 18t May. On what day of the week will be Rehan's Birthday in the same year if Rehan was born on 19t August?

AR T STeATe 18 HS 7R & | 3H a¥ g7l &1 S feeT qoalle & o foeT &l 3w I Weret 7 Ste 19 mﬁgm%?
Options:

1) Wednesday

TUAR

2) Saturday

afear

3) Friday

YHAR

4) Thursday

IRAR

Correct Answer: Saturday
efaar

Candidate Answer: Saturday

rfarR

QID : 11 - The weights of 4 boxes are 30, 40, 50 and 100 kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these
boxes and in a combination a box can be used only once?

AR FFET T sl 30, 40, 50 3R 100 Rreltamer &1 Feafafld & & sordi & el ol Tiotal & Fet aoiet, Fhollamer & hiet |1 wAET &1 Hehell & R Teh FAIoTet 7 Toh qordl
T &Y S 92T F AT ST FehelT 87

Options:
1) 190
2) 180
3) 160
4) 140

Correct Answer: 160
Candidate Answer: 160

QID : 12 - From the given alternative words, select the word which cannot be formed using the letters of the given word:

ECCENTRICITY

TerAfated fashedl & & ag e YiAT St 14T 310 oree; & &R T TN Fh 8T oA ST Hehell:
ECCENTRICITY

Options:

1) NIECE

2) CREATE

3) TRINITY

4) RETICENT
Correct Answer: CREATE
Candidate Answer: CREATE

QID: 13 - If ETHANOL is coded as HWKDQRO, then how will MIX be coded as?

gfe ETHANOL &' faalt shis & HWKDQRO for@r Sirar €, at MIX & 33t s & arar forar seem?

Options:
1) PLA

2) RFV
3) BGT

4) NHY
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Correct Answer: PLA
Candidate Answer: PLA

o [

QID : 14 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?
24x6-8+2="?
TRy s AT 7, '+ FT ATAS X' &, - BT HATAS '+ &, X' T HATAS '+ & 3R '+ FT ATAS - § | AT 92T F T 3caR Far E?

24x6-8+2=7?

Options:
1) 25

2) 50
3) 40

4) 20
Correct Answer: 20
Candidate Answer: 20

QID : 15 - If 10$25 = 8, 12$25 = 10 then what is the value of 14$53 = ?

7 10$25 = 8, 12$25 = 10 a7 14$53 = ? & AT AT oY |

Options:

1) 13

2) 15

3)11

4)9

Correct Answer: 13
Candidate Answer: 13

QID: 16 -

Select the missing number from the
given responses:

T av fashedt # & oca |

g
4511 | 1
1210 | 1
of |11 | 7

(:;J(t)ions:

2)68

3)2

4) 10

Correct Answer: 2
Candidate Answer: 2

QID: 17 - X and Y start from the same point. X walks 40 m north, then turns West and walks 80 m, then turns to his right and walks 50 m. At the same time, Y
walks 90 m North. Where is Y now with respect to the position of X?

X 3R Y Tk &Y Foig & T RS I § 1 X, 40 HIeT Sk 1 3R =l 8, T Hoohe i &t 31X 80 #reX wefelm §, T 319el arfgel 31X Hgaht 50 HieT Tofdr &1 33
HE Y, 90 FET Feck 1 HR =refall g1 X i Afey & 319 Y gl W 2
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Options:

1) Y is 30 m to the East of X

Y, XE30 AR ZTEHE

2) Y is 80 m to the West of X

Y, X & 80 #ex gy ufRa#w ¥ &

3) Y is 30 m to the West of X

Y, X@ 30 M T uRmHAAE

4) Y is 80 m to the East of X

Y, X80 AR FTEHE

Correct Answer: Y is 80 m to the East of X
Y, X@80 X x @A §

Candidate Answer: Y is 80 m to the East of X
Y, X80 MIAITEHE

QID : 18 - In the question a statement is given, followed by two arguments, I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should one year of army training be compulsory for all Indian citizens?

Argument I : No, the costs of training will be prohibitive and one year of labour will be lost.
Argument II : Yes, army training helps make better citizens.

95T & Teh 2T o 91T & Toraeh 3y & a1 31K 11 oT 913y &1 31T9ehY ATlen & o6 el e § 18 98 AT A1d azdt & Bieet gdiia gYar &1 39 RviT e &
&1 T 71T a7 § FlF-a/HT-d aF Aoy &, aR S

FYT : FAT I ARAT ARIRAT & fAT T a9 &7 FAT 67 TRNeT0r 31fAary gl anfee?

& 1 1 778, TTRIETOT ST ARG F¥encaEs gl 31T v a¥ & A @Y Seam|
a& 2 : g7, A= 9iALTT APTRS] I TgR Fallel 7 HAeg HM|
Options:

1) if only argument I is strong.

e Fael aF 1 AT ©

2) if only argument II is strong.

e Fraer aF [ AT &

3) if both I and II are strong.

IfE gt o 1 3R 11 At &

4) if neither I nor II is strong.

e A7 T 1 3R 7 &1 T I FAstg &

Correct Answer: if only argument I is strong.

I Fae o | AT &

Candidate Answer: if only argument II is strong.

AT Faer o 11 Al §

QID:19-

Options:
1)

2)
3)
ﬁ/_/f?
o O
[ ]
L ] [ ]
4)

Correct Answer:
Candidate Answer: [ NOT ANSWERED ]
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QID: 20 -
In the following figure, square represents lawyers, triangle represents
cyclists, circle represents men and rectangle represents post-graduates.
Which set of letters represents men who are not cyclists?

fafifed smefa &, o a@idl @f gxifar 8, Bys Efed ol o
ST &, 39 T30 @I Gidl & AR AT Wb R DI ciar | ARt
@1 DI H WHE YUl @I GRIidl § 9l WIgfdbd a1e® el a2

Options:

1) B,C,D

2)E

3)G,F

4) G,FHA

Correct Answer: B,C,D
Candidate Answer: B,C,D

QID: 21-

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID:22-
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Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID : 23 -

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID:24-

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID:25-

Options:
1) 23,12,44,77

2) 22,76,03,04
3) 11,34,20,10

4) 40,95,11,02
Correct Answer: 40,95,11,02
Candidate Answer: 40,95,11,02

QID : 26 - India's first official census operation was undertaken in which year?

R T TGl IMTRIRP STAIVTAT TR g a¥ TTelTam Im 2AT?

Options:
1) 1841

2) 1881
3) 1921

4) 1961
Correct Answer: 1881
Candidate Answer: 1881

Download More PapestftSetectiongommisioiovtJobsAlert.In

QID : 27 - The change in the optimal quantity of a good when its price changes and the consumer’s income is adjusted so that she can just buy the bundle that she

was buying before the price change is called?

TRl aEq T FiAd F TRade gie T 3R STSIEdT 1 T Y 36 TR GARITST 9l R o 98 34U Jusd I TG & 5 95 HIAa 7 gRade & gge Tledr o,

a@ﬁmm#g@qﬁaﬁﬂaﬁwmm?
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Options:
1) Law of demand
FHIIT T e
2) Substitution effect
gfaeame gora
3) Problem of choice
AT T FEAET
4) Optimal choice
FSCAH oAlq
Correct Answer: Substitution effect
eI FHTT
Candidate Answer: Substitution effect
gfaea= goa

QID : 28 - "Relief of the disabled and unemployable" is listed in the list given in the Seventh Schedule in the Constitution of India.

"faeheliaT 3R SRUSTAIRT T A" $TReT o HIALTT hY Frerdl JTeTeg o &r ardr
Options:

1) Union

FET

2) State

R

3) Global

ICEC

4) Concurrent

TG

Correct Answer: State
aJsT
Candidate Answer: Concurrent

FHAAT

T 9 e B

QID: 29 - amends the Constitution.
iy & Ty Hd B

Options:

1) Ministry of Defence

T&TT FHIATA

2) Prime Minister's Office

TTAHAT HTATT

3) Parliament

pan:rcy

4) Securities and Exchange Board of India

e s 3t R s

Correct Answer: Parliament

TS

Candidate Answer: Parliament

G

QID : 30 - According to the categories of land mentioned in the Chola inscriptions was known as the land gifted to temples?

et 31T & Seaferd s{far 1 [afie Hifeat & 3gar 1 FfeR 7 3UgR 3 &1 IR0 $7{ et ST T

Options:

1) Vellanvagai
EEOECIES

2) Brahmadeya

SEAT
3) Shalabhoga
LMTEITHYT

4) Devadana

gagret

Correct Answer: Devadana
gacrel

Candidate Answer: Vellanvagai

JooAdas

QID : 31 - Rajendra I was the son of?

Tole T ek 7 42
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Options:
1) Bindusara I
9qH
2) Devabhuti I
gasfa v
3) Skanda Gupta I
Tehee, I TAH
4) Rajaraja I
TSt 9UH
Correct Answer: Rajaraja I
XToRTST 99H

Candidate Answer: Rajaraja I
TSt 9IH

QID:32- is a cold desert lying in the Great Himalayas.

T fewrera # Reura va Sa1 YA &
Options:

1) Ladakh

SEArc

2) Satpura

HAgST

3) Aravalli

IRTTelr

4) Vindhya

Reearaa

Correct Answer: Ladakh
CEALCE

Candidate Answer: Ladakh
SEALCE

QID : 33 - The method of soil conservation in which different crops are grown in alternate rows and are sown at different times to protect the soil from rain wash is
called?

FeT R&T0T 39 1At &1 &1 wgd § TSrae as elget & HeT ht GIaTeT TWel o T 31097 37efeT HAY W et et Bel TohicRk elRT # 331 Srell 82
Options:

1) Mulching

Hed SATAT

2) Intercropping

ST T HEe 39T

3) Rock dam

CEICKCIY

4) Terrace farming

AfeeT B

Correct Answer: Intercropping

&I &I HHS 3T

Candidate Answer: Terrace farming

afeeT wTeT

QID : 34 - In each testes in a male reproductive system, there are compartments called testicular lobules.

T ST A & T GO H ST el Bl & oo quoT afeiehr gt &
Options:

1) 150

2) 200

3) 250

4) 300
Correct Answer: 250
Candidate Answer: [ NOT ANSWERED ]

QID : 35 - The predominant stage of the life cycle of a moss is the gametophyte which consists of two stages. The second stage is the stage.

St sk T FeTT 3TerET JaAhie e gieh 8, SR oY sraeurd gl 1 q@l e ®
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Options:
1) Agar
TR
2) Leafy
e
3) Chlorella
Felllel
4) protonema
YH &g
Correct Answer: Leafy

e
Candidate Answer: [ NOT ANSWERED ]

QID : 36 - In Animal Kingdom classification, which of the following is not a Phylum?

groft ST & geffeieT 7 Feafafed & & Fi g 78 &2
Options:

1) Mollusca

Areres

2) Chordata

T

3) Coelomates

TR

4) Anneldia

afarsr

Correct Answer: Coelomates

TITEY

)

Candidate Answer: Coelomates

TITEY

)

QID : 37 - Friction is caused by the on the two surfaces in contact.

o Fo # e Tl & gt Y 3 HROT el
Options:

1) irregularities

KIEDIECGIC)

2) smoothness

[ELEIS

3) densities

Yelcd

4) gaps

FHerTer

Correct Answer: irregularities
feafAdanst

Candidate Answer: irregularities

ifafAaant

QID : 38 - The motion of a freely falling body is an example of motion.

T T PR W wh aeg M afa i 7 sereeor 81
Options:

1) uniformly accelerated

UHGHAT caiRd

2) non-uniformly accelerated

AT caRd

3) constant velocity

X a1

4) constant speed

Eireeic

Correct Answer: uniformly accelerated
THTATT calRkd

Candidate Answer: uniformly accelerated
UHGHAT caikd

QID: 39 - (HHDD) is a technology where the conventional disk drive is combined with non-volatile flash memory, of typically 128 MB or more to cache

data during normal use.

(TIUTEE) U AT AT §, STgT IRURe 3 3159 Teius 128 THET A7 S8 HTH T Ald-aleicrse Felel HARY FT AHATT 39T & GRIT Hd 31eT

% | SST ST &
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Options:
1) Hyper Hard Disk Drive
BISW &S 3% 3189
2) Hybrid Hard Disk Drive
gTsfers &1 e grsa
3) Hybrid Helium Disk Drive
REEERIGEERE ]
4) Hyper Helium Disk Drive
BISW EIfo# 3% 3139
Correct Answer: Hybrid Hard Disk Drive
gTsfsrs &1 e grsa
Candidate Answer: Hybrid Hard Disk Drive
grsfors &re f3% grsa

QID : 40 - Chemical formula for sulphurous acid is:

TETFGIH 3l I IAAToTeh T T §?
Options:

1) HSO4

2) HySO3

3) H3SO3

4) H3SO4

Correct Answer: H,SO3

Candidate Answer: H,SO4

QID : 41 - The temperature at which a solid melts to become a liquid at the atmospheric pressure is called its

T AIATT R T RAGTH 57 51 AT L TE AT H gl &
Options:

1) Crystallisation

[ExsicTul

2) Melting point

ITATHR

3) Evaporation

TSRIOT

4) Galvanisation

UG e

Correct Answer: Melting point
poicy

Candidate Answer: Melting point
pcoica

QID:42- is the interaction in which one species benefits and the other is neither harmed nor benefited.

7 O aRERe fRam & TAEE T ST @l olret gl ¢ 3R gE B o gifel oF oiret gl gl
Options:

1) Predation

TETETOT

2) Commensalism

FEatorar

3) Competition

et

4) Parasitism

Retifadr

Correct Answer: Commensalism

Candidate Answer: Parasitism

Refifaar

QID:43 - scheme by the Central Government aims at providing affordable aviation by making domestic flight charges economically accessible for
middle-class citizens of India.

g, TR SR & 1 a1l STl 1 3297 AR & HEGHIING AR o T 3Teh 79 & Forst oo 35T Yoo Selleh ThtrIcl TaATe YaTu STolet] Fale
&l
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Options:
1) Uday Desh Ka Aam Nagrik
3G G2 & 3TH ARTRE
2) Urja Ganga
3T I
3) Ek Bharat Shrestha Bharat
T AR 56 HRAT
4) Namami Ganga Yojana
FATH 319 Trster
Correct Answer: Uday Desh Ka Aam Nagrik
3G G2 FT 3TH ARG
Candidate Answer: Uday Desh Ka Aam Nagrik
3ET G2 HT 3TH ARG

QID : 44 - Who invented the hot air balloon?

IR §aT o IR T JTIShR et fhar?
Options:

1) Montgolfier brothers

AreamferaR srsat

2) Wright brothers

T[T ST

3) Lisitsyn brothers

fofafeas smsat

4) Walton brothers

arecsT TSt

Correct Answer: Montgolfier brothers
AleTorIR st

Candidate Answer: [ NOT ANSWERED ]

QID : 45 - Which nation won the highest number of medals at 2016 Rio Olympics?

2016 & Rt 3icifed & v g & gad 310 dge Sfia a7
Options:

1) Great Britain

e e

2) USA

FuHT

3) China

e

4) Russia

*H

Correct Answer: USA
JuaT

LN

Candidate Answer: USA
JuyaT

[N

QID : 46 - Group of Monuments at Hampi is located in?

T & TR & THg Fe ey §2
Options:

1) West Bengal

T FeTer

2) Gujarat

TeRI

3) Karnataka

FaAlch

4) Tamil Nadu

At arg

Correct Answer: Karnataka

Feleh

Candidate Answer: Karnataka

Feleh

QID : 47 - Which of the following is India's highest civilian award?

TFAfaTed & & i &1 R 7 Falfee AR ERR 872
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Options:
1) Padma Bhushan
T ST
2) Param Vir Chakra
WRHA IR Th
3) Padma Vibhushan
EEACEL
4) Bharat Ratna
AR IcoT
Correct Answer: Bharat Ratna
R IcoT
Candidate Answer: Bharat Ratna
HART Teod

QID : 48 - Which of the statements given below are correct?

1. The author of the novel 'An Affair Downstairs' is Sherri Browning.
2. The author of the novel 'White Teeth' is Zadie Smith.
3. The author of the novel 'Atonement' is Ian McEwan.

o G o et 7 & wler @ T | 2

1. 3Y=TTH "V 3T SBT3 & @ NI F3HT &
2. 39T "FIST A" F o@F A Ay §
3. 3UN "TSAC" o ol ST Hehual & |

Options:

1) 1and 2

13R2

2)2and 3

23R3

3)land3

13R3

4)1,2and 3

1,23R3

Correct Answer: 1, 2 and 3

1,23R3
Candidate Answer: [ NOT ANSWERED ]

QID : 49 - Recently, scientists have found second Great Spot 24000 km across and 12000 km wide on which planet?

gTeT 81 &, ATt o o 718 o) 24000 ferellefie 3R-ur 3R 12000 fref#ex =isT q@rT e Tule’ o §?
Options:

1) Saturn

afer 7§

2) Mars

HITSA TE

3) Jupiter

ggedfa g

4) Mercury

CLR

Correct Answer: Jupiter
geeafd 78

Candidate Answer: Jupiter

CRSICEN

QID : 50 - The Sundarbans Reserve Forest (SRF) which is adjacent to India's Sundarbans National Park is located in which neighbouring country?

e HRTEI T (THINTH) SiY R o GeXslal TS Sele oh e &, T ugielr &rer 3 fewre 82
Options:

1) Bhutan

ereT

2) Pakistan

qrferEds

3) Bangladesh

Elcrie)

4) Nepal

AdTer

Correct Answer: Bangladesh
SiTenger
Candidate Answer: Bangladesh

Elericly
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QID : 51 - Select the correct option:

Convert binary 10110 to decimal.
T faweT gfaw:

ST 10110 HY SAFT H Feol|

Options:

1) 22

2) 20

3)18

4) 16

Correct Answer: 22
Candidate Answer: 22

QID:52- A, Band C can do a job working alone in 12, 16 and 24 days respectively. In how many days they can do the job if they worked together?

A, B 3R CFam: 12, 16 3R 24 Rl 3 el 1T X Thel §| 3R 3 Ueh AT THAF HIH X ¢ Al 36 1 1 helel [GaAl 3 I X Thel 87

Options:
1) 16/3

2) 15/4
3) 17/3

4) 19/4
Correct Answer: 16/3
Candidate Answer: 16/3

QID : 53 - The diagonal of a square is 10 cm. What is the length (in cm) of its side?

T e T faenot 10 HEHIT 8, 58 3T T oiars (Afeaiex ) Rrae §2
Options:

1)5

2) 5v2

3) 10v2

4) 5/v2
Correct Answer: 5v2
Candidate Answer: 5v2

QID : 54 - If on a Sale there is 40% discount on the marked price of Rs 1000, but the sale is done at Rs 510 only then what additional discount (in %) did the
customer get?

3R e T 3R ST 9X 1000 & & 3ifhd Hed W 40% H1 B el o, Afehet T9shT Shayel 510 § O 1 ST g, Y aATgeh ht favctelt AR g (% #) e &2

Options:

1) 25

2) 15

3) 10

4) 30

Correct Answer: 15
Candidate Answer: 15

QID : 55 - What is the third proportional to 9 and 45?

9 3R 45 ¥ FrT T ST T 87

Options:
1) 405

2) 225
3)5

4) 81
Correct Answer: 225
Candidate Answer: 225

QID : 56 - In a class of 39 students there are 26 girls. The average weight of these girls is 42 Kgs and average weight of the full class is 48 kgs. What is the
average weight (in kgs) of the boys of the class?

39 BT & U F9T 7 26 Fsfaar 81 37 arstndl &1 3iad aotet 42 .33 ot aof @1 3 aoteT 48 fn.am.g| FeT & a5 @1 Jitad aoret (. ) Fm §?
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Options:
1) 54
2) 66
3)60
4)62
Correct Answer: 60
Candidate Answer: 60

QID : 57 - If a saree is sold for Rs 2880 the seller will face 10% loss, at what price (in Rs) should he sell to gain 20% profit?

3R T AT 2880 & F I S & ot Frshell &Y 10% THET ST HHAT Al IS &, 3H 20% 1T 1Al 4t & fAv foey et (T) R s =nfgw?

Options:
1) 4830
2) 3840
3) 3480
4) 4380

Correct Answer: 3840
Candidate Answer: 3840

QID : 58 - Priya got 9 marks more in History than what she got in Geography. Her history marks are 56% of the sum of her History and Geography marks. What are
her Geography marks?

o 1 sfagre # aeler @ 9 37 3T Ael| 36 sfagTa & 37 30 SfAgT 3R $aer & AT 3T T 56% F1 3HE $aNel & 37 4T 82

Options:

1) 42

2) 65

3)53

4) 33

Correct Answer: 33
Candidate Answer: 42

QID : 59 - To travel 720 km, a Express train takes 6 hours more than Duronto. If however, the speed of the Express train is doubled, it takes 2 hours less than
Duronto. The speed of Duronto (in km/hr) is?

720 FRAFCT 1 AT X & AT, U A ST 1 SIRICT § 6 © T WA 9T §1 IR THASH ol T aTfl QLT & & 1S 8, A T SR F 2 B T AT
A ¥ 3R 1 a1fey (Theieie/ser ) foheeh 82

Options:

1) 60

2)72

3) 66

4) 78

Correct Answer: 72

Candidate Answer: [ NOT ANSWERED ]

QID : 60 - What is the difference (in Rs) between the compound interests on Rs. 1000 for 1 year at 10% per annum compounded yearly and half-yearly?

1000 ¥T4 W 1 ATeT & T 10% Ticia¥ =ehafg eX & ai¥en 3R 37 1o & W 91 I ey SATST 3 fohckaAl (393 3) 37T gram?
Options:

1)15

2)0.5

3)25

4)3.5
Correct Answer: 2.5
Candidate Answer: 2.5

QID: 61 - If 7x - (3/2) * (4x - 9) = 6.5, then the value of x is?

IfE 7x - (3/2) * (4 - 9) = 6.5, Y x FT AT 4T §?

Options:

1)7

2) 20

3)-7

4) -20

Correct Answer: -7
Candidate Answer: 20

QID:62-Ifa+b =8andab = 15, then what is the value of a3 + b3?

gita+b=83Rab=15% dras + b3 s AT FATE?
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Options:
1) 98

2) 152
3) 124

4) 260
Correct Answer: 152
Candidate Answer: 260

QID : 63 - The sum of a non-zero number and 4 times its reciprocal is 17/2. What is the number?

Teh IR-YF HEAT 3R 37 HEAT & SYohdl & 4 T[T 1 AT 17/2 §| TEaT et T 2

Options:

1)8

2) 12

3) 16

4) 4

Correct Answer: 8
Candidate Answer: 8

QID : 64 - The 5th and 9th term of an arithmetic progression are 7 and 13 respectively. What is the 15th term?

T AT Aol &7 giwdr 3R g g swaen: 7 3R 13 §1 1537 gg Far 82

Options:

1) 22

2)21

3)55

4) 59

Correct Answer: 22
Candidate Answer: 22

QID : 65 - What is the reflection of the point (6, -3) in the liney = 2?

@ry = 2 # 1&g (6, -3) &1 wfafsia Far g2

Options:
1)(-2,-3)

2)(6,7)
3)(6,7)

4)(-2,3)
Correct Answer: (6, 7)
Candidate Answer: (6, 7)

QID : 66 - Point A (4, 2) divides segment BC in the ratio 2:5. Co-ordinates of B are (2, 6) and C are (7, y). What is the value of y?

Tdig A (4, 2) T@IES BC &1 2:5 & 3aTd & f3iTa el &1 B o f&erie (2, 6) 3R C & (7, y) €1 y 7 AT Fa7 87

Options:

1)8

2)-8

3)6

4) -6

Correct Answer: -8
Candidate Answer: -8

QID : 67 - At what point does the line 2x - 3y = 6 cuts the X axis?

@ 2x - 3y = 6, x 3eT & g &g W e §?

Options:
1)(-:3,0)

2)(0,3)
3)(0,-3)

4)(3,0)
Correct Answer: (3, 0)
Candidate Answer: (3, 0)

QID : 68 - AABC is right angled at B. BD is an altitude. AD = 4 cm and DC = 9 cm. What is the value of BD (in cm)?

MABC, B 9 THIUT §| BD 38 Fam$ &1 AD = 4 drefie 31 DC = 9 déeex &1 BD (Hérefex #1) o a1 &/ &7
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Options:

1)5

2) 4.5

3)5.5

4)6

Correct Answer: 6
Candidate Answer: 6

QID : 69 - Tan 45° + Cosec 60° =

Tan 45° + Cosec 60° =
Options:

1) (1 +2v2)/2

2) (V3 + 2)/V6

3) 5/V3

4) (3 + 2v3)/3

Correct Answer: (3 + 2v3)/3
Candidate Answer: (3 + 2V/3)/3

QID : 70 - AXYZ is right angled at Y. If mzZ = 60°, then Cosec X =

AXYZ, Y W THASIOT | Tfe m2Z = 60° &, @ Cosec X =

Options:

1)2

2)1/2

3) 1/V2

4)1/V3

Correct Answer: 2
Candidate Answer: 2

QID: 71 - If Cosec 6 = 17/8, then Cot 6 = ?

If& Cosec © = 17/8, ar Cot B = ?

Options:
1) 17/8

2) 15/8

3)8/15

4) 17/15

Correct Answer: 15/8
Candidate Answer: 15/8
QID:72-

Which movie grossed the second highest box office collections?

e 3R T Tl 31TE FHATS FLe arel fhod! H & gAY FR W Hiet @ ow o

Options:
1)E

2)C
3)B

4)D
Correct Answer: C
Candidate Answer: C

QID:73-
By what percent collections of movie D were lower than that of movie B ?

Thes D &I HATS fhed B &l Jofall & fehctait Ticire e A

Options:

1) 66.7

2) 40

3)20

4) 60

Correct Answer: 40
Candidate Answer: 40

QID: 74 -
Collection of movie C is equal to the combined collections of which movies?

oea C Y FATS et Toeal BT HIF HATS F TN 2
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Options:
1)F, Aand D
F,A3RD
2)B,Dand F
B, D3R F
3)Band D
B3R D
4)A, Band F
A B3RF
Correct Answer: B, D and F
B, D 3iRF
Candidate Answer: A, Band F
A B3RF

QID:75-
If the producer gets 60% of the box office collections, how much (in crores) did the producer of the movies A and E get?

aﬁﬁﬁwaﬁaﬁmaﬁmwg@w@wm% 19T 9o BielT &, oY foheaT A 31K E & RaTar ot fhaely shers (et ) §é?

Options:
1) 120

2) 60
3) 180

4) 300
Correct Answer: 180
Candidate Answer: 180

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

While he went beside (1)/ with our decisions, we were (2)/ never sure he totally agreed. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 2

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

The after morning (1)/ she woke to the first ray of (2)/ light through the window. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 2

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

The psychopath gets a sense of enjoyment from torturing animals.
Options:

1) perverse

2) agreeable

3) happy
4) reasonable

Correct Answer: perverse
Candidate Answer: perverse

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

When Jaspal got angry, he started to his feelings with his hands.
Options:

1) participate

2) immolate

3) intoxicate

4) gesticulate

Correct Answer: gesticulate
Candidate Answer: gesticulate
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QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Fossilize

Options:

1) Amalgamate

2) Dissolve

3) Flex

4) Liquefy

Correct Answer: Amalgamate
Candidate Answer: Dissolve

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Depict
Options:

1) Conceal

2) Distort

3) Characterize
4) Suppress

Correct Answer: Characterize
Candidate Answer: Characterize

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Differ

Options:

1) Alter

2) Concur

3) Digress

4) Vary

Correct Answer: Concur
Candidate Answer: Concur

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Salve
Options:
1) Cerate
2) Liniment
3) Remedy
4) Blockage

Correct Answer: Blockage
Candidate Answer: [ NOT ANSWERED ]

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Gnash your teeth
Options:

1) Express rage

2) Brush your teeth
3) Laugh hysterically
4) Take a big bite

Correct Answer: Express rage
Candidate Answer: Express rage

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Let something slip through one's fingers
Options:

1) Lose a wedding ring

2) Not be able to understand a difficult concept
3) Let go of certain unpleasant things

4) to waste an opportunity to achieve something

Correct Answer: to waste an opportunity to achieve something
Candidate Answer: to waste an opportunity to achieve something

QID : 86 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

What would you like (to do it) for your birthday?
Options:

1) todo

2) doing

3) does

4) no improvement

Correct Answer: to do

Candidate Answer: to do
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QID : 87 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

You must (be mistake).
Options:

1) be mistakenly

2) be mistaken

3) be mistook

4) no improvement

Correct Answer: be mistaken

Candidate Answer: be mistaken

QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Complete with regard to every detail
Options:

1) Thorough

2) Lackadaisical

3) Lax

4) Cursory

Correct Answer: Thorough

Candidate Answer: Thorough

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

The faculty or power of using one's will
Options:

1) Antagonism

2) Aversion

3) Rejection

4) Volition

Correct Answer: Volition

Candidate Answer: Volition

QID : 90 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) jukstapose

2) jaxtapuse

3) juxtapose

4) jaxtapose

Correct Answer: juxtapose
Candidate Answer: juxtapose

QID : 91 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) amusemant

2) ammusement

3) ammusemant

4) amusement

Correct Answer: amusement
Candidate Answer: amusement

QID : 92 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Evidently it was too

X-of a deadly-looking cobra or

Y-two we saw no reptiles

Z-dry for game, and with the exception
Options:

1) YZX

2) YXZ

3) Xzy

4) ZXY

Correct Answer: ZXY

Candidate Answer: ZXY

QID : 93 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Some of these

X-height of more than
Y-2000 feet above the sea
Z-rocks rise to the
Options:

1) YZX

2) ZXY

3) YXz

4) XzY

Correct Answer: ZXY
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Candidate Answer: ZXY

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

I will wash the car every Sunday.

Options:

1) The car is washed by me every Sunday.

2) Every Sunday by me the car is to be washed.

3) Every Sunday by myself the car is to be washed.
4) The car will be washed by me every Sunday.

Correct Answer: The car will be washed by me every Sunday.
Candidate Answer: The car will be washed by me every Sunday.

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The watchman said, "Thief! Thief! Catch him!"

Options:

1) The watchman shouted to the crowd to catch the thief.

2) The watchman shouted to the crowd, thief, thief, catch him.
3) The watchman shouted to the crowd, catch the thief.

4) The watchman shouted to the crowd, thief, catch him.

Correct Answer: The watchman shouted to the crowd to catch the thief.
Candidate Answer: The watchman shouted to the crowd to catch the thief.

QID : 96 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

There's more than the 101-seater dining table at the Falaknuma Palace that is awe inspiring. The library done in rosewood and mahogany is a
place that will force anyone to pause, if only to admire the fine original polish, the furniture and the walnut carved high roof. The last is
supposedly an imitation of the one at Windsor Castle.

The library is almost the size of a large banquet hall and acts as the passage to other parts of the palace including the dining area. For years the
palace had no librarian because they couldn't find the right person to do justice to the treasure trove of books collected by the Nizam's family
over several decades. That is until they found Asif Husain Arastu who belongs to the family that owned the famous A A Husain book store in
Abids. So when his friend and historian Anuradha Naik pointed out the palace's requirement at the library, Husain was delighted. On his very first
day as the librarian at the magnificent Taj Falaknuma palace, Asif Husain found a reference book on 'How to paint grass' by Alfred East.

Which of the following is false about Mr Arastu?
Options:

1) He was a descendent of the Nizam's family
2) He was the librarian at the Falaknuma Palace
3) He owned a book store

4) He was a friend of Anuradha Naik

Correct Answer: He was a descendent of the Nizam's family
Candidate Answer: He was a descendent of the Nizam's family

QID : 97 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

There's more than the 101-seater dining table at the Falaknuma Palace that is awe inspiring. The library done in rosewood and mahogany is a
place that will force anyone to pause, if only to admire the fine original polish, the furniture and the walnut carved high roof. The last is
supposedly an imitation of the one at Windsor Castle.

The library is almost the size of a large banquet hall and acts as the passage to other parts of the palace including the dining area. For years the
palace had no librarian because they couldn't find the right person to do justice to the treasure trove of books collected by the Nizam's family
over several decades. That is until they found Asif Husain Arastu who belongs to the family that owned the famous A A Husain book store in
Abids. So when his friend and historian Anuradha Naik pointed out the palace's requirement at the library, Husain was delighted. On his very first
day as the librarian at the magnificent Taj Falaknuma palace, Asif Husain found a reference book on 'How to paint grass' by Alfred East.

The roof of the library had carvings made of which wood?
Options:

1) Rosewood

2) Mahogany

3) Sandalwood

4) Walnut

Correct Answer: Walnut
Candidate Answer: Mahogany

QID : 98 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

There's more than the 101-seater dining table at the Falaknuma Palace that is awe inspiring. The library done in rosewood and mahogany is a
place that will force anyone to pause, if only to admire the fine original polish, the furniture and the walnut carved high roof. The last is
supposedly an imitation of the one at Windsor Castle.

The library is almost the size of a large banquet hall and acts as the passage to other parts of the palace including the dining area. For years the
palace had no librarian because they couldn't find the right person to do justice to the treasure trove of books collected by the Nizam's family
over several decades. That is until they found Asif Husain Arastu who belongs to the family that owned the famous A A Husain book store in
Abids. So when his friend and historian Anuradha Naik pointed out the palace's requirement at the library, Husain was delighted. On his very first
day as the librarian at the magnificent Taj Falaknuma palace, Asif Husain found a reference book on 'How to paint grass' by Alfred East.

Name the author of the book that Mr Hussain found on his first day as the librarian?
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Options:

1) Alfred East

2) Anuradha Naik
3) Mark Twain

4) Charles Dickens

Correct Answer: Alfred East
Candidate Answer: Alfred East

QID : 99 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

There's more than the 101-seater dining table at the Falaknuma Palace that is awe inspiring. The library done in rosewood and mahogany is a
place that will force anyone to pause, if only to admire the fine original polish, the furniture and the walnut carved high roof. The last is
supposedly an imitation of the one at Windsor Castle.

The library is almost the size of a large banquet hall and acts as the passage to other parts of the palace including the dining area. For years the
palace had no librarian because they couldn't find the right person to do justice to the treasure trove of books collected by the Nizam's family
over several decades. That is until they found Asif Husain Arastu who belongs to the family that owned the famous A A Husain book store in
Abids. So when his friend and historian Anuradha Naik pointed out the palace's requirement at the library, Husain was delighted. On his very first
day as the librarian at the magnificent Taj Falaknuma palace, Asif Husain found a reference book on 'How to paint grass' by Alfred East.

The books at the library were collected by
Options:

1) Hyderabad University

2) Mrs Anuradha Naik

3) The Nizam's Family

4) Mr Asif Husain Arastu

Correct Answer: The Nizam's Family

Candidate Answer: The Nizam's Family

QID : 100 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

There's more than the 101-seater dining table at the Falaknuma Palace that is awe inspiring. The library done in rosewood and mahogany is a
place that will force anyone to pause, if only to admire the fine original polish, the furniture and the walnut carved high roof. The last is
supposedly an imitation of the one at Windsor Castle.

The library is almost the size of a large banquet hall and acts as the passage to other parts of the palace including the dining area. For years the
palace had no librarian because they couldn't find the right person to do justice to the treasure trove of books collected by the Nizam's family
over several decades. That is until they found Asif Husain Arastu who belongs to the family that owned the famous A A Husain book store in
Abids. So when his friend and historian Anuradha Naik pointed out the palace's requirement at the library, Husain was delighted. On his very first
day as the librarian at the magnificent Taj Falaknuma palace, Asif Husain found a reference book on 'How to paint grass' by Alfred East.

Which part of the palace is an imitation of the Windsor Palace?
Options:

1) 101-seater dining table

2) The library's roof

3) The banquet hall

4) The library's furniture

Correct Answer: The library's roof
Candidate Answer: The banquet hall
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